
DATA SOURCE: ENP SAMPLE FOLLOW UP SEGMENT THE NATIONAL JTPA STUDY PAGE DATE:OCT 1993
┌───────────────────────────────┬──────────┬───────────┬─────────────────────────────────────────────────────────────────────┐
│ Variable │ │ │ Codebook for SAS data sets - ENP Sample segments(waves 1 &2) │
├─────────┬──────────┬──────────┤ │ Reference ├─────────────────────────────────────────────────────────────────────┤
│ Number │ Name │Width [1] │ Base [2] │ Name │ Descriptive text, allowed values and skip instructions │
├─────────┼──────────┼──────────┼──────────┼───────────┼─────────────────────────────────────────────────────────────────────┤
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ FOLLOW-UP SURVEY SOURCE DATA │
│ │ │ │ │ │ SEGMENT FROM SECTION C: CLOK │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ 5000 │ F1CLOP │ 01 │ all │ F1CLOP │ IGNORE, USED FOR DATA PROCESSING │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ 5010 │ F1CLSQ │ 02 │ all │ F1CLSQ │ SEQUENCE NUMBER FOR SPELL │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ 5020 │ F1LKWK │ 01 │ all │ F1BOX8 │ RESPONDENT JOB SEARCHING │
│ │ │ │ │ │ CHECK CALENDAR. ARE THERE ANY PERIODS OF TWO WEEKS OR │
│ │ │ │ │ │ MORE IN WHICH THE RESPONDENT WAS NOT WORKING BUT WAS │
│ │ │ │ │ │ LOOKING FOR WORK IN THE REFERENCE PERIOD. │
│ │ │ │ │ │ 1 = YES │
│ │ │ │ │ │ 2 = NO GOTO 5110 │
│ │ │ │ │ │ 7 = REFUSED GOTO 5110 │
│ │ │ │ │ │ 8 = DON'T KNOW GOTO 5110 │
│ │ │ │ │ │ 9 = MISSING │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ 5030 │ F1LKMETH │ 02 │ 5020 = │ F1C1 │ TYPE OF JOB SEARCH │
│ │ │ │ 1 │ │ DURING THIS PERIOD, WHAT DID THE RESPONDENT DO TO │
│ │ │ │ 9 │ │ FIND WORK? │
│ │ │ │ │ │ BLANK = N/A │
│ │ │ │ │ │ 00 = USED NO METHOD │
│ │ │ │ │ │ 01 = STATE EMPLOYMENT OFFICE │
│ │ │ │ │ │ 02 = PRIVATE EMPLOYMENT AGENCY │
│ │ │ │ │ │ 03 = SCHOOL PLACEMENT │
│ │ │ │ │ │ 04 = COMMUNITY ACTION GROUP │
│ │ │ │ │ │ 05 = WIN │
│ │ │ │ │ │ 06 = LOCAL JTPA PROGRAM │
│ │ │ │ │ │ 07 = TRAINING PROGRAM │
│ │ │ │ │ │ 97 = REFUSED GOTO 5110 │
│ │ │ │ │ │ 98 = DON'T KNOW GOTO 5110 │
│ │ │ │ │ │ 99 = MISSING │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ 5040 │ F1ASSIST │ 01 │ 5020 = │ F1ASSIST │ (RESERVED FIELD) │
│ │ │ │ 1 │ │ Blank = n/a │
│ │ │ │ 9 │ │ 1 = YES │
│ │ │ │ 5030 = │ │ 2 = NO │
│ │ │ │ BLANK │ │ 9 = MISSING │
│ │ │ │ 00 │ │ │
│ │ │ │ 01 │ │ │
│ │ │ │ 02 │ │ │



│ │ │ │ 03 │ │ │
│ │ │ │ 04 │ │ │
│ │ │ │ 05 │ │ │
│ │ │ │ 06 │ │ │
│ │ │ │ 07 │ │ │
│ │ │ │ 99 │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
└─────────┴──────────┴──────────┴──────────┴───────────┴─────────────────────────────────────────────────────────────────────┘
[1]: Indicates the default maximum length of the SAS variables which are mostly right aligned & blank filled numeric formats.
[2]: Indicates the population which should have answered the associated question in terms of previous questions and replies.



DATA SOURCE: ENP SAMPLE FOLLOW UP SEGMENT THE NATIONAL JTPA STUDY PAGE DATE:OCT 1993
┌───────────────────────────────┬──────────┬───────────┬─────────────────────────────────────────────────────────────────────┐
│ Variable │ │ │ Codebook for SAS data sets - ENP Sample segments(waves 1 &2) │
├─────────┬──────────┬──────────┤ │ Reference ├─────────────────────────────────────────────────────────────────────┤
│ Number │ Name │Width [1] │ Base [2] │ Name │ Descriptive text, allowed values and skip instructions │
├─────────┼──────────┼──────────┼──────────┼───────────┼─────────────────────────────────────────────────────────────────────┤
│ │ │ │ │ │ │
│ 5050 │ F1JBCS │ 02 │ 5020 = │ F1C2A │ JOB COUNSELING RECEIVED │
│ │ │ │ 1 │ │ DID THE RESPONDENT RECEIVE ANY JOB COUNSELING? │
│ │ │ │ 9 │ │ BLANK = N/A │
│ │ │ │ 5030 = │ │ 00 = NO GOTO 5070 │
│ │ │ │ BLANK │ │ 01 = YES │
│ │ │ │ 00 │ │ 97 = REFUSED GOTO 5070 │
│ │ │ │ 01 │ │ 98 = DON'T KNOW GOTO 5070 │
│ │ │ │ 02 │ │ 99 = MISSING │
│ │ │ │ 03 │ │ │
│ │ │ │ 04 │ │ │
│ │ │ │ 05 │ │ │
│ │ │ │ 06 │ │ │
│ │ │ │ 07 │ │ │
│ │ │ │ 99 │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ 5060 │ F1CSHRS │ 03 │ 5020 = │ F1C3A │ TOTAL HOURS RECEIVED SERVICE │
│ │ │ │ 1 │ │ ABOUT HOW MANY HOURS OF JOB COUNSELING DID THE RESPONDENT │
│ │ │ │ 9 │ │ RECEIVE? │
│ │ │ │ 5030 = │ │ BLANK = N/A │
│ │ │ │ BLANK │ │ 001..899 = HOURS │
│ │ │ │ 00 │ │ 997 = REFUSED │
│ │ │ │ 01 │ │ 998 = DON'T KNOW │
│ │ │ │ 02 │ │ 999 = MISSING │
│ │ │ │ 03 │ │ │
│ │ │ │ 04 │ │ │
│ │ │ │ 05 │ │ │
│ │ │ │ 06 │ │ │
│ │ │ │ 07 │ │ │
│ │ │ │ 99 │ │ │
│ │ │ │ 5050 = │ │ │
│ │ │ │ BLANK │ │ │
│ │ │ │ 01 │ │ │
│ │ │ │ 99 │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ 5070 │ F1JBSA │ 02 │ 5020 = │ F1C2B │ JOB SERVICES RECEIVED │
│ │ │ │ 1 │ │ DID THE RESPONDENT RECEIVE ANY JOB SEARCH ASSISTANCE? │
│ │ │ │ 9 │ │ BLANK = N/A │
│ │ │ │ 5030 = │ │ 00 = NO GOTO 5090 │
│ │ │ │ BLANK │ │ 02 = YES │
│ │ │ │ 00 │ │ 97 = REFUSED GOTO 5090 │
│ │ │ │ 01 │ │ 98 = DON'T KNOW GOTO 5090 │
│ │ │ │ 02 │ │ 99 = MISSING │
│ │ │ │ 03 │ │ │
│ │ │ │ 04 │ │ │
│ │ │ │ 05 │ │ │
│ │ │ │ 06 │ │ │
│ │ │ │ 07 │ │ │
│ │ │ │ 99 │ │ │



│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
└─────────┴──────────┴──────────┴──────────┴───────────┴─────────────────────────────────────────────────────────────────────┘
[1]: Indicates the default maximum length of the SAS variables which are mostly right aligned & blank filled numeric formats.
[2]: Indicates the population which should have answered the associated question in terms of previous questions and replies.



DATA SOURCE: ENP SAMPLE FOLLOW UP SEGMENT THE NATIONAL JTPA STUDY PAGE DATE:OCT 1993
┌───────────────────────────────┬──────────┬───────────┬─────────────────────────────────────────────────────────────────────┐
│ Variable │ │ │ Codebook for SAS data sets - ENP Sample segments(waves 1 &2) │
├─────────┬──────────┬──────────┤ │ Reference ├─────────────────────────────────────────────────────────────────────┤
│ Number │ Name │Width [1] │ Base [2] │ Name │ Descriptive text, allowed values and skip instructions │
├─────────┼──────────┼──────────┼──────────┼───────────┼─────────────────────────────────────────────────────────────────────┤
│ │ │ │ │ │ │
│ 5080 │ F1HRSSA │ 03 │ 5020 = │ F1C3B │ TOTAL HOURS RECEIVED SERVICE │
│ │ │ │ 1 │ │ ABOUT HOW MANY HOURS OF JOB SEARCH ASSISTANCE DID │
│ │ │ │ 9 │ │ THE RESPONDENT RECEIVE? │
│ │ │ │ 5030 = │ │ BLANK = N/A │
│ │ │ │ BLANK │ │ 001..899 = HOURS │
│ │ │ │ 00 │ │ 997 = REFUSED │
│ │ │ │ 01 │ │ 998 = DON'T KNOW │
│ │ │ │ 02 │ │ 999 = MISSING │
│ │ │ │ 03 │ │ │
│ │ │ │ 04 │ │ │
│ │ │ │ 05 │ │ │
│ │ │ │ 06 │ │ │
│ │ │ │ 07 │ │ │
│ │ │ │ 99 │ │ │
│ │ │ │ 5070 = │ │ │
│ │ │ │ BLANK │ │ │
│ │ │ │ 02 │ │ │
│ │ │ │ 99 │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ 5090 │ F1JBLST │ 02 │ 5020 = │ F1C2C │ JOB SERVICES RECEIVED │
│ │ │ │ 1 │ │ DID THE RESPONDENT RECEIVE ANY JOB LISTINGS OR REFERRALS │
│ │ │ │ 9 │ │ TO A JOB OPENING? │
│ │ │ │ 5030 = │ │ BLANK = N/A │
│ │ │ │ BLANK │ │ 00 = NO │
│ │ │ │ 00 │ │ 03 = YES │
│ │ │ │ 01 │ │ 97 = REFUSED │
│ │ │ │ 02 │ │ 98 = DON'T KNOW │
│ │ │ │ 03 │ │ 99 = MISSING │
│ │ │ │ 04 │ │ │
│ │ │ │ 05 │ │ │
│ │ │ │ 06 │ │ │
│ │ │ │ 07 │ │ │
│ │ │ │ 99 │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ 5100 │ F1DUMMY │ 03 │ 5020 = │ F1C3C │ IGNORE, USED FOR DATA PROCESSING │
│ │ │ │ 1 │ │ BLANK = N/A │
│ │ │ │ 9 │ │ │
│ │ │ │ 5030 = │ │ │
│ │ │ │ BLANK │ │ │
│ │ │ │ 00 │ │ │
│ │ │ │ 01 │ │ │
│ │ │ │ 02 │ │ │
│ │ │ │ 03 │ │ │
│ │ │ │ 04 │ │ │
│ │ │ │ 05 │ │ │
│ │ │ │ 06 │ │ │
│ │ │ │ 07 │ │ │
│ │ │ │ 99 │ │ │



│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ 5110 │ F1LKSHUT │ 01 │ all │ F1CLSHUT │ IGNORE, USED FOR DATA PROCESSING │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
└─────────┴──────────┴──────────┴──────────┴───────────┴─────────────────────────────────────────────────────────────────────┘
[1]: Indicates the default maximum length of the SAS variables which are mostly right aligned & blank filled numeric formats.
[2]: Indicates the population which should have answered the associated question in terms of previous questions and replies.



DATA SOURCE: ENP SAMPLE FOLLOW UP SEGMENT THE NATIONAL JTPA STUDY PAGE DATE:OCT 1993
┌───────────────────────────────┬──────────┬───────────┬─────────────────────────────────────────────────────────────────────┐
│ Variable │ │ │ Codebook for SAS data sets - ENP Sample segments(waves 1 &2) │
├─────────┬──────────┬──────────┤ │ Reference ├─────────────────────────────────────────────────────────────────────┤
│ Number │ Name │Width [1] │ Base [2] │ Name │ Descriptive text, allowed values and skip instructions │
├─────────┼──────────┼──────────┼──────────┼───────────┼─────────────────────────────────────────────────────────────────────┤
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │



│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
│ │ │ │ │ │ │
└─────────┴──────────┴──────────┴──────────┴───────────┴─────────────────────────────────────────────────────────────────────┘
[1]: Indicates the default maximum length of the SAS variables which are mostly right aligned & blank filled numeric formats.
[2]: Indicates the population which should have answered the associated question in terms of previous questions and replies.




